TOO / ENOUGH
1. Fill in the gaps choosing TOO or ENOUGH.
1.My sister isn’t old   to go to the park on her own.
2.I’m   curious. I’m always asking questions.
3.There are  many people in this party.
4.Her mother is  intelligent to be deceived by her behaviour.
5.If you aren’t happy , get a divorce!
6.She isn’t tall  to be a model.
7.Jenny is happy. She won’t see he is an idiot!
8.Are they good  to win the competition?
9.My grandfather is  good to be true.
10.If you use the internet, it’s easy  to find information about anything you want to know.
11.There were  chairs for everybody.
12.Isn’t he  old to be going out with you?
13.There are  many football teams with financial problems.
14.The recent recession in Spain has left  many people out of work.
15.There wasn’t water in the jug. 

2.Transform the following sentences so that they mean the same as the previous one.You have to use the opposite adjective.
Example: He's not strong enough to lift that box.
[bookmark: _GoBack]                 He's too weak to lift that box.

1. He isn't old enough to vote.  
    He is  to vote.
2. Algebra is too difficult for me to understand. 
    Algebra isn't  for me to understand.
3. I can't drink this tea. It's too cold. 
   It's not .
4. The weather is not warm enough to go swimming.
    The weather is  to go swimming.
5. This book isn't easy enough for the children to read.
    This book is  for the children to read.
6. That shirt is too small for me to wear.
     That shirt isn't  for me to wear.
7. The watch was too expensive for him to buy.
     The watch wasn't  for him to buy.
8. It's not quiet enough in here to speak. Let's go out!
    It's  in here to speak. Let's go out!
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